
MATHS

BOOKS - TARGET MATHS (HINGLISH)

TRIGONOMETRIC FUNCTIONS OF COMPOUND ANGLES

Classical Thinking

1. The value of  is

A. 

B. 

C. 

D. 

Answer: D

W t h Vid S l ti

cos 105∘

√3 + 1

2√2

√3 − 1

2√2

−
√3 + 1

2√2

1 − √3

2√2

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_tu3JW0a6VQqF


Watch Video Solution

2. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

tan 15∘ =

1

3

√3 − 2

2 − √3

2 + √3

3.  is equal to

A. 

B. 

C. 

cos 38∘ cos 8∘ + sin 38∘ sin 8∘

cos 30∘

cos 60∘

cos 45∘

https://dl.doubtnut.com/l/_tu3JW0a6VQqF
https://dl.doubtnut.com/l/_uKVeC7GcV7xF
https://dl.doubtnut.com/l/_c713PUVIud4P


D. 

Answer: A

Watch Video Solution

cos 38∘

4. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(√3cos 23∘ − sin 23∘ ) =
1

3

cos 43∘

cos 7∘

cos 53∘1

4

cos 53∘2

3

5. The value of  is equal totan 5A − tan 3A − tan 2A

https://dl.doubtnut.com/l/_c713PUVIud4P
https://dl.doubtnut.com/l/_H7N7uABnmgEf
https://dl.doubtnut.com/l/_k4MQbdRWIdln


A. 

B. 

C. 0

D. 1

Answer: A

Watch Video Solution

tan 5A tan 3A tan 2A

−tan 5A tan 3A tan 2A

6. The value of 

 is

A. 

B. 

C. 0

D. 

Answer: B

tan 57∘ − tan 12∘ − tan 57∘ tan 12∘

tan 69∘

tan 45∘

tan 57∘

https://dl.doubtnut.com/l/_k4MQbdRWIdln
https://dl.doubtnut.com/l/_rDyHkJtW6xiQ


Watch Video Solution

7. 
is equal to
 
b. 
c. 
d. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

cos 100 + s ∈ 100

cos 100 − s ∈ 100
tan 550 cos 550 −tan 350 −cot 350

tan 55∘

cot 55∘

−tan 55∘

−cot 35∘

8. Find value of (cos⁡〖8°〗−sin⁡〖8°〗)/(cos⁡〖8°〗+sin⁡〖8°〗 )

A. 

B. 

C. 

tan 53∘

tan 37∘

tan 82∘

https://dl.doubtnut.com/l/_rDyHkJtW6xiQ
https://dl.doubtnut.com/l/_wLw2tjVEBn7z
https://dl.doubtnut.com/l/_bFMqFZAnkJnU


D. 

Answer: B

Watch Video Solution

tan 62∘

9. If tan  and tan  then find the value of A+B

A. 0

B. 

C. 

D. 

Answer: D

Watch Video Solution

A =
a

a + 1
B =

1

2a + 1

π

2

π

3

π

4

https://dl.doubtnut.com/l/_bFMqFZAnkJnU
https://dl.doubtnut.com/l/_JXaMmen0Avlq


10. If tan A - tan B = x and cot B - cot A =y , then what is cot ( A -B) equal to

?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

+ y
1

x

1

xy

−
1

x

1

y

+
1

x

1

y

11. The value of  is

A. 

B. 

C. 

D. 

cos2 48∘ − sin2 12∘

√5 − 1

4

√5 + 1

8

√3 − 1

4

√3 + 1

2√2

https://dl.doubtnut.com/l/_sZCRhrDB1PqK
https://dl.doubtnut.com/l/_hWq9LrrBeLUW


Answer: B

Watch Video Solution

12. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

=
cot2 15∘ − 1

cot2 15∘ + 1

1

2

√3

2

3√3

4

√3

13. The value of  is

A. 

tan( − 945∘ )

−1

https://dl.doubtnut.com/l/_hWq9LrrBeLUW
https://dl.doubtnut.com/l/_hU3nf86Fakdj
https://dl.doubtnut.com/l/_n3bRE9Qx2evw


B. 

C. 

D. 

Answer: A

Watch Video Solution

−2

−3

−4

14. 

A. 

B. 

C. 

D. 1

Answer: C

Watch Video Solution

sin( )sin( )
π

10

3π

10

1

2

−1

2

1

4

https://dl.doubtnut.com/l/_n3bRE9Qx2evw
https://dl.doubtnut.com/l/_NYNktcFFiFuc
https://dl.doubtnut.com/l/_6aFOrEzuprcI


15. 

A. 0

B. 

C. 

D. 

Answer: A

Watch Video Solution

sin 15∘ + cos 105∘ =

2sin 15∘

cos 15∘ + sin 15∘

sin 15∘ − cos 15∘

16. If  then 

A. 

B. 

C. 

D. 

tanA = , tanB = ,
1

2

1

3
cos 2A =

sinB

sin 2B

sin 3B

−sin 2B

https://dl.doubtnut.com/l/_6aFOrEzuprcI
https://dl.doubtnut.com/l/_h0aDJl3nfPw4


Answer: B

Watch Video Solution

17. If  then  is equal to

A. 0

B. 1

C. 

D. 7

Answer: A

Watch Video Solution

8θ = π, cos 7θ + cos θ

−1

18. If ABCD is a cyclic quadrilateral, then  is equal to

A. 0

cosA + cosB

https://dl.doubtnut.com/l/_h0aDJl3nfPw4
https://dl.doubtnut.com/l/_dcEQDR6qx5HS
https://dl.doubtnut.com/l/_7dcxaga8uqrb


B. 

C. 

D. 

Answer: C

Watch Video Solution

cosC + cosD

−(cosC + cosD)

cosC − cosD

19. If ABCD is a cyclic quadrilateral, then the value of

 is

A. 0

B. 1

C. 

D. 

Answer: A

Watch Video Solution

cosA − cosB + cosC − cosD

2(cosB − cosD)

2(cosA − cosC)

https://dl.doubtnut.com/l/_7dcxaga8uqrb
https://dl.doubtnut.com/l/_AH9KUGjvhseB


20.  is equal to

A. 0

B. 1

C. 

D. 

Answer: A

Watch Video Solution

sin 10∘ + sin 20∘ + sin 30∘ + … + sin 360∘

−1

1

2

21.  is equal to

A. 0

B. 1

C. 

D. 2

cos 1∘ + cos 2∘ + cos 3∘ + …. + cos 180∘

−1

https://dl.doubtnut.com/l/_AH9KUGjvhseB
https://dl.doubtnut.com/l/_x0U4zqm9qJ83
https://dl.doubtnut.com/l/_GlXqEQ6LOrhm


Answer: C

Watch Video Solution

22. Which of the following is the correct identity ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

cos( + A) = tanA
π

2

sec( − A) − cos ecA
7π
2

sin(nπ + A) = − sinA

sin(π − A) = − sinA

23. The value of  is

A. 0

+
cot 54∘

tan 36∘

tan 20∘

cot 70∘

https://dl.doubtnut.com/l/_GlXqEQ6LOrhm
https://dl.doubtnut.com/l/_Jw1IJ0HdyVmg
https://dl.doubtnut.com/l/_mWrv6ttph5ht


B. 2

C. 3

D. 1

Answer: B

Watch Video Solution

24. Prove that 

A. 2

B. 1

C. 

D. 0

Answer: C

Watch Video Solution

= − 1
cos(90∘ + θ)sec( − θ)tan(180∘ − θ)

sec(360∘ − θ)sin(180∘ + θ)cot(90∘ − θ)

−1

https://dl.doubtnut.com/l/_mWrv6ttph5ht
https://dl.doubtnut.com/l/_UxDt39pUYLx2


25.  is equal to

A. 0

B. 1

C. 

D. 2

Answer: B

Watch Video Solution

sin2 25∘ + sin2 65∘

1
2

26. The value of : 

A. 1

B. 2

C. 

sin2( ) + sin2( ) + sin2( ) + sin2( )is :
π

8

3π

8

5π

8

7π

8

3

8

https://dl.doubtnut.com/l/_UxDt39pUYLx2
https://dl.doubtnut.com/l/_uNphmF1QMDG9
https://dl.doubtnut.com/l/_ge8D44LOR9yO


D. 

Answer: B

Watch Video Solution

1

8

27.  is not equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

cos 2θ

2 cos2 θ − 1

1 − 2 sin2 θ

1 + tan2 θ

1 − tan2 θ

1 − tan2 θ

1 + tan2 θ

28.  can be written assin 4θ

https://dl.doubtnut.com/l/_ge8D44LOR9yO
https://dl.doubtnut.com/l/_5vfSIlVc6MBO
https://dl.doubtnut.com/l/_nhmH78CGrIrg


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

4 sin θ(1 − 2 sin2 θ)√1 − sin2 θ

2 sin θ cos θ sin2 θ

4 sin θ − 6 sin3 θ

4 sin θ + 6 sin2 θ

29. If  then 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

tan θ = t, tan 2θ + sec 2θ =

1 + t

1 − t

1 − t

a + t

2t

a − t

2t

1 + t

https://dl.doubtnut.com/l/_nhmH78CGrIrg
https://dl.doubtnut.com/l/_5Gdp52NkGEsI


30. If  then  is equal to

A. 1

B. 2

C. 0

D. 

Answer: C

Watch Video Solution

sinA + cosA = 1, sin 2A

1

2

31. Find the value of :


A. 

B. 

C. 

 √2 + √2 + 2 cos 4θ

cos θ

sin θ

2 cos θ

https://dl.doubtnut.com/l/_5Gdp52NkGEsI
https://dl.doubtnut.com/l/_Kn797K8MxmTt
https://dl.doubtnut.com/l/_auLCt52ASAnE


D. 

Answer: C

Watch Video Solution

2 sin θ

32.  is equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1 + cos2 2A

sin4 A + cos4 A

sin2 2A

2(cos4 A + sin4 A)

2(cos4 A − sin4 A)

33. 1 − 2 sin2( + θ) =
π

4

https://dl.doubtnut.com/l/_auLCt52ASAnE
https://dl.doubtnut.com/l/_pa10yhbTs0zC
https://dl.doubtnut.com/l/_auEpwdV6R6ys


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

cos 2θ

−cos 2θ

sin 2θ

−sin 2θ

34. The largest value of  is

A. 1

B. 

C. 

D. 

Answer: B

Watch Video Solution

sin θ cos θ

1

2

1

√2

√3

2

https://dl.doubtnut.com/l/_auEpwdV6R6ys
https://dl.doubtnut.com/l/_r5yT4DbRY1zM


35. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(sec 2A + 1)sec2 A =

secA

2 secA

sec 2A

2 sec 2A

36. 

A. 

B. 

C. 

cos ecA − 2 cot 2A cosA =

2 sinA

secA

2 cosA cot A

https://dl.doubtnut.com/l/_r5yT4DbRY1zM
https://dl.doubtnut.com/l/_7VXOUtypbHRE
https://dl.doubtnut.com/l/_36wGKqt5AV6H


D. 

Answer: A

Watch Video Solution

cosA

37. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

cos 20∘ cos 40∘ cos 80∘ =

1

2

1

4

1

6

1

8

38. =
sin θ + sin 2θ

1 + cos θ + cos 2θ

https://dl.doubtnut.com/l/_36wGKqt5AV6H
https://dl.doubtnut.com/l/_GclpH1oEmp4X
https://dl.doubtnut.com/l/_xiF87oThZD50


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

tan θ
1

2

cot θ
1

2

tan θ

cot θ

39. If  then 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

sin 2θ = ,
3

4
sin3 θ + cos3 θ =

√5

8

√7
8

√11

8

5√7
16

https://dl.doubtnut.com/l/_xiF87oThZD50
https://dl.doubtnut.com/l/_IIcyRUIJDx3V


40. If  then 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

cos 3θ = α cos θ + β cos3 θ, (α, β) =

(3, 4)

(4, 3)

( − 3, 4)

3, − 4)

41. If  then 

A. 

B. 

C. 

tanA = ,
1

2
tan 3A =

9

2

11

2

7
2

https://dl.doubtnut.com/l/_IIcyRUIJDx3V
https://dl.doubtnut.com/l/_rAilHofFMKrv
https://dl.doubtnut.com/l/_6SzsDORyCss7


D. 

Answer: B

Watch Video Solution

−
1

2

42. If then is equal to-

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x + = 2 cos θ,
1

x
(x3 + )

1

x3

cos 3θ

2 cos 3θ

cos 3θ
1

2

cos 3θ
1

3

43. If  where  then sinα = ,
−3

5
π < α < ,

3π

2
cos( ) =

α

2

https://dl.doubtnut.com/l/_6SzsDORyCss7
https://dl.doubtnut.com/l/_o6au2bxB9q3t
https://dl.doubtnut.com/l/_GYI2SpmnkRy0


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

−1

√10

1

√10

3

√10

−3

√10

44. If = t, then the value of  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

tan
θ

2

1 − t2

1 + t2

cos θ

sin θ

secθ

cos 2θ

https://dl.doubtnut.com/l/_GYI2SpmnkRy0
https://dl.doubtnut.com/l/_uO8TtAczlTOC


45. If  then 

A. 

B. 5

C. 

D. 

Answer: D

Watch Video Solution

tan = ,
A

2
3
2

=
1 + cosA

1 − cosA

−5

9

4

4

9

46.  is equal to

A. 

B. 

C. 

tan
A

2

√
1 − sinA

1 + sinA

√
1 + sinA

1 − sinA

√
1 − cosA

1 + cosA

https://dl.doubtnut.com/l/_uO8TtAczlTOC
https://dl.doubtnut.com/l/_8gPjUng1gsXy
https://dl.doubtnut.com/l/_zG4o1O7Pmz6M


Critical Thinking

D. 

Answer: C

Watch Video Solution

√
1 + cosA

1 − cosA

47. If , then prove that .

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

tanβ = cos θ tanα tan2 =
θ

2

sin(α − β)

sin(α + β)

sin(α + β)

sin(α + β)

cos(α − β)

cos(α + β)

sin(α − β)

sin(α − β)

cos(α + β)

cos(α − β)

https://dl.doubtnut.com/l/_zG4o1O7Pmz6M
https://dl.doubtnut.com/l/_1PVp9jyXgXQ8
https://dl.doubtnut.com/l/_6xIPfpjPP8um


1. If  then  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

cos(A + B) = α cosA cosB + β sinA sinB, (α, β)

( − 1, − 1)

( − 1, 1)

(1, − 1)

(1, 1)

2. If  where A and B lie in first and third

quadrant respectively, then 

A. 

B. 

C. 

D. 

sinA = and cosB = − ,
4

5

12

13

cos(A + B) =

56

65

−
56

65

16

65

−
16

56

https://dl.doubtnut.com/l/_6xIPfpjPP8um
https://dl.doubtnut.com/l/_MP2LSqpwsWGu


Answer: D

Watch Video Solution

3. If , where A and B are positive acute

angles, then  is equal to

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

sinA = and sinB =
1

√10

1

√5

A + B

π

π

2

π

3

π

4

4. If =1/2 and =1/3 , then tan θ tanϕ tan(2θ + ϕ)

https://dl.doubtnut.com/l/_MP2LSqpwsWGu
https://dl.doubtnut.com/l/_z7yxnUCZTBbV
https://dl.doubtnut.com/l/_ArC14ddH9esC


A. 1

B. 2

C. 3

D. 4

Answer: C

Watch Video Solution

5. If  lies in the first quardrant and , then find the value of 

.

A. 

B. 

C. 

D. 

Answer: A

θ cos θ =
8

17

cos(30∘ + θ) + cos(45∘ − θ) + cos(120∘ − θ)

( + )
23

17

√3 − 1

2

1

√2

( + )
23

17

√3 − 1

2

1

√2

( = − )
23

17

√3 + 1

2

1

√2

( − )
23

17

√ + 1

2

1

√2

https://dl.doubtnut.com/l/_ArC14ddH9esC
https://dl.doubtnut.com/l/_I5oEVTV8H5Ne


Watch Video Solution

6. If 
, then 
is equal to

A. 1

B. 2

C. 

D. 

Answer: B

Watch Video Solution

A − B = π/4 (1 + tanA)(1 − tanB)

∞

−2

7. If , then  is equal to

A. 0

B. 2

C. 1

A + B = 45∘ (cot A − 1)(cot B − 1)

https://dl.doubtnut.com/l/_I5oEVTV8H5Ne
https://dl.doubtnut.com/l/_Imkjns8pQKtw
https://dl.doubtnut.com/l/_K1UtOPBdZaTH


D. 4

Answer: B

Watch Video Solution

8. If  then 

 is equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

cos(θ − α) = a, sin(θ − β) = b,

cos2(α − β) + 2ab sin(α − β)

4a2b2

a2 − b2

a2 + b2

−a2b2

https://dl.doubtnut.com/l/_K1UtOPBdZaTH
https://dl.doubtnut.com/l/_nLVcWKW2hK0k


9. If x,y,z are any three real numbers, then

 is equal to

A. 1

B. 0

C. 

D.  is equal to

Answer: C

Watch Video Solution

tan(x − y) + tan(y − z) + tan(z − x)

tan(x − y)tan(y − z)tan(z − x)

tan(y − x)tan(z − y)tan(z − x)

10. The value of  is equal to
 (A) 


 (B) 
 (C) 


(D) none of these

A. 

B. 

tan 3A − tan 2A − tanA

tan 3A tan 2A tanA −tan 3A tan 2A tanA

tanA tan 2A − tan 2A tan 3A − tan 3A tanA

tan 3A tan 2A tanA

−tan 3A tan 2A tanA

https://dl.doubtnut.com/l/_PTWjyfXSAmwf
https://dl.doubtnut.com/l/_Yq5EZNvIQ7Ng


C. 

D. 

Answer: A

Watch Video Solution

tanA tan 2A − tan 2A tan 3A

tan 2A tan 3A − tanA tan 2A

11. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

tan 20∘ + tan 40∘ + √3. tan 20∘ . tan 40∘ =

1

√3

√3

−
1

√3

−√3

https://dl.doubtnut.com/l/_Yq5EZNvIQ7Ng
https://dl.doubtnut.com/l/_yr6XVWyDyytm


12.  is equal to

A. 

B. 

C. 1

D. 

Answer: D

Watch Video Solution

tan − tan − √3 tan tan
2π

5

π

15

2π

5

π

15

−√3

1

√3

√3

13. If  then  is equal to

A. 

B. 

C. 

D. 

tanA = 2 tanB + cot B, 2 tan(A − B)

tanB

2 tanB

cot B

2 cosB

https://dl.doubtnut.com/l/_bzHsmyWvy1al
https://dl.doubtnut.com/l/_JNsV6Hphjud8


Answer: C

Watch Video Solution

14. If 
, then prove that 

A. 

B. 

C. 1

D. None of these

Answer: A

Watch Video Solution

α, β, γ, ∈ (0, )
π

2
< 1

si(α + β + γ)

sinα + sinβ + sinγ

< 1

> 1

15. 

A. 

− =
1

tan 3A − tanA

1

cot 3A − cot A

tanA

https://dl.doubtnut.com/l/_JNsV6Hphjud8
https://dl.doubtnut.com/l/_43ydoa5EjFka
https://dl.doubtnut.com/l/_jPPS8waijBXA


B. 

C. 

D. 

Answer: D

Watch Video Solution

tan 2A

cot A

cot 2A

16. Show that sin 

A. 

B. 1

C. 

D. 

Answer: D

Watch Video Solution

150∘ + cos 105∘ =
1

√5

1
2

√2

1

√2

https://dl.doubtnut.com/l/_jPPS8waijBXA
https://dl.doubtnut.com/l/_O3435fO0FzCp
https://dl.doubtnut.com/l/_2KcvhBsImIqX


17. The vlaue of 

 is equal to

A. 1

B. 2

C. 3

D. 4

Answer: D

Watch Video Solution

tan 81∘ − tan 63∘ − tan 27∘ + tan 9∘

18. If 
then 
equals
 
 (b) 


 
(d) 

A. 

B. 

C. 

α + β = andβ + γ = α,
π

2
tanα 2(tanβ + tanγ)

tanβ + tanγ tanβ + 2 tanγ 2 tanβ + tanγ

2(tanβ + tanγ)

tanβ + tanγ

tanβ + 2 tanγ

https://dl.doubtnut.com/l/_2KcvhBsImIqX
https://dl.doubtnut.com/l/_2C4Y18RW4OLs


D. 

Answer: C

Watch Video Solution

2 tanβ + tanγ

19.  is equal to

A. 

B. 

C. 1

D. 0

Answer: B

Watch Video Solution

tan( + θ)tan( + θ)
π

4

3π

4

−2

−1

20. tan(100∘ ) + tan(125∘ ) + tan(100∘ )tan(125∘ ) =

https://dl.doubtnut.com/l/_2C4Y18RW4OLs
https://dl.doubtnut.com/l/_pQaPltJ2HYYv
https://dl.doubtnut.com/l/_29jGTYSMbavR


A. 0

B. 

C. 

D. 1

Answer: D

Watch Video Solution

1

2

−1

21. If A+B= 
Find cotA/(1+cotA)*cotB(1+cotB)`

A. 1

B. 

C. 0

D. 

Answer: D

Watch Video Solution

225∘

−1

1

2

https://dl.doubtnut.com/l/_29jGTYSMbavR
https://dl.doubtnut.com/l/_99H7CRwAuQFk


22. The value of  is:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

sin( − 660∘ )tan(1050∘ )sec(420∘ )

cos(225∘ )cos ec(315∘ )cos(510∘ )

√3

4

√3
2

2

√3

4

√3

23. 

A. 

B. 

C. 

cos2( β) − sin2(α − ) =
π

4

π

4

sin(α + β)sin(α − β)

cos(α + β)cos(α − β)

sin(α + β)cos(α + β)

https://dl.doubtnut.com/l/_99H7CRwAuQFk
https://dl.doubtnut.com/l/_4J5kZakT1xtw
https://dl.doubtnut.com/l/_bYGx3uE5tXxl


D. 

Answer: D

View Text Solution

sin(α + β)cos(α − β)

24. THe value of  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

cos2( ) + cos2( ) + cos2( )
π

12

π

4

5π

12

2

3 + √3

2

3

3 + √3

2

3

2

25. tanα = , tanβ = , then cos 2α =
1

7

1

3

https://dl.doubtnut.com/l/_bYGx3uE5tXxl
https://dl.doubtnut.com/l/_uI1rBzg4tlEt
https://dl.doubtnut.com/l/_Uv1Nuc7V6os6


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

sin 2β

sin 4β

sin 3β

sinβ

26. If  then =

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

cos θ = (x + )
1

2

1

x
(x2 + )

1

2

1

x2

sin 2θ

cos 2θ

tan 2θ

sec 2θ

https://dl.doubtnut.com/l/_Uv1Nuc7V6os6
https://dl.doubtnut.com/l/_z7u29OlxP63K


27. If  and  then  is equal to

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

sinx + cos x =
1

5
0 ≤ x ≤ π, tanx

−
4
3

−
3

4

−
2

3

3

2

28. If  and , then tan x is

A. 

B. 

C. 

0 < x < π cos x + sinx =
1

2

1 − √7
4

4 − √7
3

−
4 + √7

3

https://dl.doubtnut.com/l/_z7u29OlxP63K
https://dl.doubtnut.com/l/_cFOwzHIDl2MH
https://dl.doubtnut.com/l/_aMf1cwzgHArx


D. 

Answer: C

Watch Video Solution

√7 + 1
4

29. If : 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

tan( + θ) − tan( − θ) = m ⋅ tan(nθ), then
π

4

π

4

2 tan 2θ

2 cot 2θ

tan 2θ

cot 2θ

30. If  then the value of  in terms of p issec 2θ = p + tan 2θ, sin2 θ

https://dl.doubtnut.com/l/_aMf1cwzgHArx
https://dl.doubtnut.com/l/_tnkx7CcPs5Ao
https://dl.doubtnut.com/l/_pP84pTmFcGri


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(p − 1)
2

2(p2 + 1)

( )
21

2

p − 1

p + 1

p2 − 1

2(p2 + 1)

p2 − 1

2(P + 1)2

31. If  and  are angles in first quadrant and  and 

 then

A. 

B. 

C. 

D. 

Answer: D

θ ϕ tan θ =
1

7

sinϕ =
1

√10

θ + 2ϕ = 90∘

θ + 2ϕ = 60∘

θ + 2ϕ = 30∘

θ + 2ϕ = 45∘

https://dl.doubtnut.com/l/_pP84pTmFcGri
https://dl.doubtnut.com/l/_PYudmkAa9XdG


Watch Video Solution

32. If  and  then the value of 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

cos(θ − α) = a cos(θ − β) = b

sin2(α − β) + 2ab cos(α − β)

1 − a2 − b2

a − 2a2 − 2b2

2 + a2 + b2

2 − a2 − b2

33. If 
equals
 
(b) 0
(c) 1 (d)

none of these

A. 

tan2 θ = 2 tan2 φ + 1, then cos 2θ + sin2 φ −1

−1

https://dl.doubtnut.com/l/_PYudmkAa9XdG
https://dl.doubtnut.com/l/_kfhziKPGTGZv
https://dl.doubtnut.com/l/_2uQXjtkBhgcY


B. 0

C. 1

D. 2

Answer: B

Watch Video Solution

34. If  is equal

to

A. 

B. 

C. 

D. 4

Answer: D

Watch Video Solution

tan θ − cot θ = a and sin θ + cos θ = b(b2 − 1)
2
(a2 + 4)

2

−4

±4

https://dl.doubtnut.com/l/_2uQXjtkBhgcY
https://dl.doubtnut.com/l/_yg8HYN0AdaUZ


35. If sin A sin 2A = x and cos A + cos 2A = y, then 

A. 

B. 

C. 3y

D. 4y

Answer: A

Watch Video Solution

(x2 + y2)(x2 + y2) =

2y

y

36. If

then

A. 

B. 

tanx = , a ≠ c, y = a cos2 x + 2b sinx ⋅ cos x + c sin2 x, z = a sin2 x
2b

a − c

y = z

y + z = a + c

https://dl.doubtnut.com/l/_yg8HYN0AdaUZ
https://dl.doubtnut.com/l/_dwukoum5Ai2v
https://dl.doubtnut.com/l/_wXQqpYokx4KZ


C. 

D. 

Answer: B

Watch Video Solution

y − z = a + c

y − z = (a − c)2 + 4b2

37. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

8 ⋅ sin( ) ⋅ cos( ) ⋅ cos( ) ⋅ cos( ) =
x

8
x

2
x

4
x

8

8 sinx

sinx

cos x

8 cos x

https://dl.doubtnut.com/l/_wXQqpYokx4KZ
https://dl.doubtnut.com/l/_CHLoeyEaMaEy


38. If  then the value of x is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x = cos 10∘ cos 20∘ cos 40∘ ,

tan 10∘1

4

cos 10∘1

8

cos ec10∘1

8

sec 10∘1

8

39. If  then 


 is equal to

A. 

B. 

C. 

D. 

θ = ,
π

2n + 1

cos θ cos 2θcos 22θ…cos 2n− 1θ

1

2n

cos θ

2

2n

https://dl.doubtnut.com/l/_4eGfiz1FkmyY
https://dl.doubtnut.com/l/_eoMXyeEC2AxR


Answer: A

Watch Video Solution

40. 

A. 0

B. 

C. 

D. 

Answer: D

Watch Video Solution

cos( )cos( )cos( ) =
π

7

2π

7
4π
7

1

2

1

4

−
1

8

41. The value of 

A. 

cos cos.2 cos4 cos8 =
π

5

π

5

π

5

π

5

1

16

https://dl.doubtnut.com/l/_eoMXyeEC2AxR
https://dl.doubtnut.com/l/_rhvT31i99g4n
https://dl.doubtnut.com/l/_zBPcgDLH1CyW


B. 0

C. 

D. 

Answer: D

Watch Video Solution

−1

8

−1

16

42. The value of  is equal to

A. 1

B. 2

C. 4

D. 3

Answer: C

Watch Video Solution

−
1

sin 10∘

√3

cos 10∘

https://dl.doubtnut.com/l/_zBPcgDLH1CyW
https://dl.doubtnut.com/l/_YIfho2xZSuPp
https://dl.doubtnut.com/l/_xwfWVcytX9Xm


43. If is acute, then 


 is equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

|tanA| < 1 and |A|

√1 + sin 2A + √1 − sin 2A

√1 + sin 2A − √1 − sin 2A

tanA

−tanA

cot A

−cot A

44. If  then 

A. 

B. 

C. 

tanx =
b

a
√ + √ =

a + b

a − b

a − b

a + b

2 sinx

√sin 2x

2 cos x

√cos 2x

2 cos x

√sin 2x

https://dl.doubtnut.com/l/_xwfWVcytX9Xm
https://dl.doubtnut.com/l/_lzeAgmxlNK6N


D. 

Answer: B

Watch Video Solution

2 sinx

√cos 2x

45. Show that: 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

tan(600 + θ)tan(600 − θ) =
2 cos 2θ + 1

2 cos 2θ − 1

2 cos 2A + 1

2 cos 2A − 1

2 cos 2A − 1

2 cos 2A + 1

cos 2A + 21

cos 2A − 1

cos 2A − 1

cos 2A + 21

46. Maximum value of  issin4 θ + cos4 θ

https://dl.doubtnut.com/l/_lzeAgmxlNK6N
https://dl.doubtnut.com/l/_lekgBheqesNT
https://dl.doubtnut.com/l/_wK7F6q4BagkN


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

0, 2

1,
1

2

−1, 1

1, −
1

2

47. Let  then

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

B = 2 sin2 x − cos 2x,

−1 ≤ B ≤ 3

0 ≤ B ≤ 2

−1 ≤ B ≤ 1

−2 ≤ B ≤ 2

https://dl.doubtnut.com/l/_wK7F6q4BagkN
https://dl.doubtnut.com/l/_lOEnoNCu0afw


48. If  and , then sin 

A. 0

B. 

C. 

D. 

Answer: B

Watch Video Solution

3 sin 2θ = 2 sin 3θ 0 < θ < π θ =

√15

4

−
1

4

1

4

49. If  then A is equal to

A. 

B. 

C. 

sin 2A = sin 3A and 0 ≤ A ≤ 90∘ ,

45∘

60∘

0∘ or 36∘

https://dl.doubtnut.com/l/_lOEnoNCu0afw
https://dl.doubtnut.com/l/_JNEBGvGH5KMW
https://dl.doubtnut.com/l/_F2YsatnHEndb


D. 

Answer: C

Watch Video Solution

72∘

50. Solve that following equations :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

tantheta+tan(θ + ) + tan(θ + ) = 3
π

3

2π

3

tan 2θ = 1

tan 3θ = 1

tan3 θ = 1

tan2 θ = 1

https://dl.doubtnut.com/l/_F2YsatnHEndb
https://dl.doubtnut.com/l/_FgiaqVWOIXgH


51. If  and  lies in third quadrant, then the value of

 is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

sin θ = −
4
5

θ

cos( )
θ

2

1

√5

−
1

√5

√
2

5

−√
2

5

52. If  then 

A. 

B. 

C. 

secθ = 1 ,
1

4
tan =

θ

2

1

3

3

4

1

4

https://dl.doubtnut.com/l/_GH3swCp6KcUQ
https://dl.doubtnut.com/l/_hQeGZrtYoUdY


D. 

Answer: A

Watch Video Solution

5

4

53. For is equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

f or A = 133∘ , 2 cos
A

2

−√1 + sinA − √1 − sinA

−√1 + sinA + √1 − sinA

√1 + sinA − √1 − sinA

√1 + sinA + √1 − sinA

https://dl.doubtnut.com/l/_hQeGZrtYoUdY
https://dl.doubtnut.com/l/_eu2zlklJGVUc


54. If  where  and  are positive acute

angles, then 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

cos θ = and cos ϕ = ,
3

5
4
5

θ ϕ

cos =
θ − ϕ

2

7

√2

7

5√2

7

√5

7

2√5

55. 

A. 

B. 

C. 

(cosα + cos β)
2

+ (sinα + sinβ)
2

=

4 cos2( )
α − β

2

4 sin2( )
α − β

2

4 cos2( )
α + β

2

https://dl.doubtnut.com/l/_L3oE6fvvRhzX
https://dl.doubtnut.com/l/_XK8Xe4gmmKvt


D. 

Answer: A

Watch Video Solution

4 sin2( )
α + β

2

56. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

. =
sin 2A

1 + cos 2A

cosA

1 + cosA

tan
A

2

cot
A

2

sec
A

2

cos ec
A

2

57. =
1 + sinA − cosA

1 + sinA + cosA

https://dl.doubtnut.com/l/_XK8Xe4gmmKvt
https://dl.doubtnut.com/l/_c5iRRGmgm4Ku
https://dl.doubtnut.com/l/_rNFZxG9uRCzi


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

sin
A

2

cos
A

2

tan
A

2

cot
A

2

58. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

=
tanA + secA − 1

tanA − secA + 1

1 + sinA

cosA

1 − sinA

cosA

1 − cosA

sinA

1 + sinA

cosA

1 + cosA

sinA

https://dl.doubtnut.com/l/_rNFZxG9uRCzi
https://dl.doubtnut.com/l/_H6CEglOIvxJB


59. If  then y is equal to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

0 < θ < and = √ ,
π

2

y + 1

1 − y

1 + sin θ

1 − sin θ

cot
θ

2

tan
θ

2

cot + tan
θ

2
θ

2

cot − tan
θ

2
θ

2

60. If  are the roots of the quadratic equation

, then the value of  is:

A. 

B. 

tanA&tanB

x2 − ax + b = 0 sin2(A + B)

a2

a2 + (1 − b)
2

a2

a2 + b2

https://dl.doubtnut.com/l/_H6CEglOIvxJB
https://dl.doubtnut.com/l/_AEQIYIhjAtIl
https://dl.doubtnut.com/l/_Y1TLIPP01lsT


Competitive Thinking

C. 

D. 

Answer: A

Watch Video Solution

a2

(a + b)2

a2

b2 + (1 − a)2

1. Prove that 

 


A. 

B. 

C. 

D. 

(i)  cos  ( + x) +  cos  ( − x) = √2  cos  x
π

4

π

4

(ii)  cos  ( + x) − cos  ( − x) = − √2  sin  x
3π

4

3π

4

√2 sin2 x

√2 sinx

√2 cos2 x

√2 cos x

https://dl.doubtnut.com/l/_Y1TLIPP01lsT
https://dl.doubtnut.com/l/_G5tAKArXJTVM


Answer: D

Watch Video Solution

2. IF  then 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

2 sin(θ + ) = cos(θ − ),
π

3

π

6
tan θ =

√3

−
1

√3

1

√3

−√3

3. The value of  is equal to

A. 

cos 15∘ − sin 15∘

1

√2

https://dl.doubtnut.com/l/_G5tAKArXJTVM
https://dl.doubtnut.com/l/_JEDDzFq9IlPS
https://dl.doubtnut.com/l/_413kQaRul597


B. 

C. 

D. 0

Answer: A

Watch Video Solution

1

2

−
1

√2

4. If .

Then ,  will be

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

sin θ = , (0 < θ < ) and cos ϕ = − , (π < ϕ < )
12

13

π

2

3

5

3π

2

sin(θ + ϕ)

−56

61

−56

65

1

65

−56

https://dl.doubtnut.com/l/_413kQaRul597
https://dl.doubtnut.com/l/_rgg0oUqGw4S2


5. If and , then the

value of  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

< α < π, π < β < 3 ; sinα =
π

2

π

2

15

17
tanβ =

12

5

sin(β − α)

−171
221

21

221

21

221

171
221

6. If  , then write the value of 

A. 

B. 

tan(A + B) = p and tan(A + B) = q

tan 2B.

p + q

p − q

p − q

1 + pq

https://dl.doubtnut.com/l/_rgg0oUqGw4S2
https://dl.doubtnut.com/l/_ezdYk8M7S13Q
https://dl.doubtnut.com/l/_gyJJceUPRavI


C. 

D. 

Answer: C

Watch Video Solution

p + q

1 − pq

1 + pq

1 − p

7. If  and  lie between  then

find the value of 

A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

cos(α + β) = ; sin(α − β) =
4
5

5

13
α, β 0&

π

4

tan 2α

16

63

56

33

28

33

https://dl.doubtnut.com/l/_gyJJceUPRavI
https://dl.doubtnut.com/l/_U0k7WgK7YQgm
https://dl.doubtnut.com/l/_qbaZyDzWDhwV


8. If  and  then

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

cos(A − B) =
3

5
tanA tanB = 2

cosA cosB =
1

5

sinA sinB = −
2

5

cosA cosB = −
1

5

sinA sinB = −
1

5

9. If , then the value of  is

A. 3

B. 2

C. 

D. 0

sin θ = 3 sin(θ + 2α) tan(θ + α) + 2 tanα

−1

https://dl.doubtnut.com/l/_qbaZyDzWDhwV
https://dl.doubtnut.com/l/_fUEncn1OLIqS


Answer: D

Watch Video Solution

10. If 
, show that 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

tanβ =
ns ∈ α cosα

1 − ns ∈2 α
tan(α − β) = (1 − n)tanα.

n tanα

(1 − n)tanα

(1 + n)tanα

tanα

n

11. If y = (1 + tan A) (1 - tan B), where  then  is equal

to

A − B =
π

4
(y + 1)y+ 1

https://dl.doubtnut.com/l/_fUEncn1OLIqS
https://dl.doubtnut.com/l/_Yi9sX4bk8euf
https://dl.doubtnut.com/l/_0IsFacEJalu6


A. 9

B. 4

C. 27

D. 81

Answer: C

Watch Video Solution

12. 

A. 0

B. 

C. 1

D. 

Answer: C

Watch Video Solution

cot( + θ)cot( − θ)i s
π

4

π

4

−1

−2

https://dl.doubtnut.com/l/_0IsFacEJalu6
https://dl.doubtnut.com/l/_SmCXO6LSVRB6


13. A positive acute angle is divided into two parts whose tangents are

 Then the angle is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

and .
1

2

1

3

π

4

π

5

π

3

π

6

14. If  and , whera P and Q both are acute angles.

Then the value of P-Q is

A. 

B. 

cosP =
1

7
cosQ =

13

14

30∘

60∘

https://dl.doubtnut.com/l/_SmCXO6LSVRB6
https://dl.doubtnut.com/l/_LB67cjWdWfc3
https://dl.doubtnut.com/l/_C1ExJtEebILL


C. 

D. 

Answer: B

Watch Video Solution

45∘

75∘

15. If  , then  lies in

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

sinα = and sinβ =
1

√5

3

5
β − α

(0, )
π

4

( , )
π

2
3π

4

[0, π]

(π, )
5π

4

https://dl.doubtnut.com/l/_C1ExJtEebILL
https://dl.doubtnut.com/l/_Y6xYsHXZ4tzb


16. if  then find 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

tan θ1 = kcot θ2 =
cos(θ1 − θ2)

cos(θ1 + θ2)

1 + k

1 − k

1 − k

1 + k

k + 1

k − 1

k − 1

k + 1

17. 

A. 

B. 

C. 

D. 

=
cos 17∘ + sin 17∘

cos 17∘ − sin 17∘

tan 62∘

tan 56∘

tan 54∘

tan 73∘

https://dl.doubtnut.com/l/_S0yFfeXFP5BI
https://dl.doubtnut.com/l/_tzmdiaxHBMr4


Answer: A

Watch Video Solution

18. Prove that 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

= tan 54∘cos 9∘ + sin 9∘

cos 9∘ − sin 9∘

tan 54∘

tan 36∘

tan 18∘

tan 73∘

19. If , thentan θ =
sinα − cosα

sinα + cosα

https://dl.doubtnut.com/l/_tzmdiaxHBMr4
https://dl.doubtnut.com/l/_HLd1yyLarvXm
https://dl.doubtnut.com/l/_ogh5r8M5FH5N


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

√2 cos, θ√2 sin θ

−√2 sin θ, − √2 cos θ

√2 sin θ, √2 sin θ

√2 cos θ, √2 cos θ

20. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

cos2 45∘ − sin2 15∘ =

√3

2

√3

4

√3 + 1

2√2

√3 − 1

2√2

https://dl.doubtnut.com/l/_ogh5r8M5FH5N
https://dl.doubtnut.com/l/_KUKOmw5YqSm8


21. The value of  is

A. 

B. 0

C. 

D. 

Answer: A

Watch Video Solution

cos2( + θ) − sin2( − θ)
π

6

π

6

cos 2θ
1

2

− cos 2θ
1

2

1

2

22. The maximum value of  is attained at 

A. 

B. 

C. 

sin(θ + ) + cos(θ + )
π

6

π

6

θ ∈ (0, )
π

2

x =
π

3

x =
π

12

x =
π

6

https://dl.doubtnut.com/l/_KUKOmw5YqSm8
https://dl.doubtnut.com/l/_DOtMUPUcorB4
https://dl.doubtnut.com/l/_4NEcSQeUd1gK


D. 

Answer: B

Watch Video Solution

x =
π

2

23. What is the value of sin  ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

15∘

√3 − 1

2√2

√3 + 1

2√2

1 − √3

2√2

1 + √3

√2

24. sin 75∘ =

https://dl.doubtnut.com/l/_4NEcSQeUd1gK
https://dl.doubtnut.com/l/_66pgXBlH2KuX
https://dl.doubtnut.com/l/_xnytKge6X9by


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2 − √3

2

√3 + 1

2√2

√3 − 1

−2√2

√3 − 1

2√2

25. 

A. 1

B. 0

C. 

D. 

Answer: D

Watch Video Solution

sin 765∘

√3

2

1

√2

https://dl.doubtnut.com/l/_xnytKge6X9by
https://dl.doubtnut.com/l/_JmECgOaYysQv


26. The value of 
 is
 
 b. 
 c. 
 d.

none of these

A. 1

B. 0

C. 

D. 

Answer: D

Watch Video Solution

tanθ sin( + θ)cos( − θ)
π

2

π

2
−1 1 sin 2θ

1

2

cos2 θ

sin2 θ

27. 

A. 

B. 0

C. 1

cot(45 + θ)cot(45 − θ) =

−1

https://dl.doubtnut.com/l/_JmECgOaYysQv
https://dl.doubtnut.com/l/_ZBfsbSRT4acz
https://dl.doubtnut.com/l/_CXTFqkgUhoEv


D. 

Answer: C

Watch Video Solution

∞

28. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

tan 75∘ − cot 75∘ =

2√3

2 + √3

2 − √3

−2√3

29. Prove that tan 70∘ = tan 20∘ + 2tan 50∘

https://dl.doubtnut.com/l/_CXTFqkgUhoEv
https://dl.doubtnut.com/l/_17ORzPepzCdy
https://dl.doubtnut.com/l/_P6bDamnQbRpa


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

tan 20∘ + tan 50∘

tan 20∘ + tan 50∘

tan 20∘ + 2tan 50∘

2tan 20∘ + 2tan 50∘

30.  is equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

sec 50∘ + tan 50∘

tan 20∘ + tan 50∘

2tan 20∘ + 2tan 50∘

tan 20∘ + 2tan 50∘

2tan 20∘ + 2tan 50∘

https://dl.doubtnut.com/l/_P6bDamnQbRpa
https://dl.doubtnut.com/l/_ClLSOAwClr6v


31. If  then one of the values of  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2 sec 2α = tanβ + cot β, α + β

π

4

π

2

π

2π

32. The value of  is equal to

A. 1

B. 

C. 

sin(π + θ)sin(π − θ)cos ec2θ

−1

sin θ

https://dl.doubtnut.com/l/_ClLSOAwClr6v
https://dl.doubtnut.com/l/_KSNmtAqrZv2a
https://dl.doubtnut.com/l/_rNgDumJmYG3E


D. 

Answer: B

Watch Video Solution

−sin θ

33. If 
 are angles of a cyclic quadrilateral, then prove that 

A. 

B. 

C. 

D. 0

Answer: D

Watch Video Solution

A, B, C, D

cosA + cosB + cosC + cosD = 0

2(cosA + cosC)

2(cosA + cosB)

2(cosA + cosD)

https://dl.doubtnut.com/l/_rNgDumJmYG3E
https://dl.doubtnut.com/l/_2dkaX8tgAALB


34. The value of  is

A. 0

B. 

C. 

D. 1

Answer: D

Watch Video Solution

cos(270∘ + θ)cos(90∘ + θ) − sin(270∘ − θ)cos θ

−1

1

2

35. If A =  , 

A. 

B. 0

C. 1

D. 

π

2
cosA + sin(270∘ − A) + cos(180∘ + A) =

−1

1

2

https://dl.doubtnut.com/l/_6Y2jTWi4y2bH
https://dl.doubtnut.com/l/_QHRenafjLU3g


Answer: B

Watch Video Solution

36. 

A. 0

B. 

C. 

D. 

Answer: A

Watch Video Solution

tanA + cot(1800 + A) + cot(900 + A) + cot(3600 − A) =

2 tanA

2 cot A

2(tanA − cot A)

37. The valur of 

 is equal tosin 1∘ + sin 2∘ + … + sin 359∘

https://dl.doubtnut.com/l/_QHRenafjLU3g
https://dl.doubtnut.com/l/_C2AdKtaejR5w
https://dl.doubtnut.com/l/_AB6b4nK4T5cF


A. 1

B. 180

C. 0

D. 

Answer: C

Watch Video Solution

−1

38. The value of 

 is

A. 

B. 1

C. 

D. 

Answer: A

sin 600∘ cos 330∘ + cos 120∘ sin 150∘

−1

1

√2

√3

2

https://dl.doubtnut.com/l/_AB6b4nK4T5cF
https://dl.doubtnut.com/l/_NR681iselSsq


Watch Video Solution

39. At  the value of  is

A. 0

B. 1

C. 

D. None of these

Answer: D

Watch Video Solution

x = ,
5π

6
2 sin 3x + 3 cos 3x

−1

40. 

A. 

B. 

C. 

=
1 − tan 2∘ cot 62∘

tan 152∘ − cot 88∘

√3

−√3

√2 − 1

https://dl.doubtnut.com/l/_NR681iselSsq
https://dl.doubtnut.com/l/_n2162o11wQlB
https://dl.doubtnut.com/l/_KkDnnxwGavk4


D. 

Answer: B

Watch Video Solution

1 − √2

41. 

A. 1

B. 

C. 0

D. 

Answer: C

Watch Video Solution

+ =
cos 12∘ − sin 12∘

cos 12∘ + sin 12

sin 147∘

cos 147∘

−1

√3

42. If  then tan 20∘ = λ, =
tan 160∘ − tan 110∘

1 + (tan 160∘ )(tan 110∘ )

https://dl.doubtnut.com/l/_KkDnnxwGavk4
https://dl.doubtnut.com/l/_m6eOia7PmiwS
https://dl.doubtnut.com/l/_npWmgmG9GfS4


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

1 + λ2

2λ

1 + λ2

λ

1 − λ2

λ

1 − λ2

2λ

43.  is equal to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

sin2 17. 5∘ + sin2 72. 5∘

cos2 90∘

tan2 45∘

cos2 30∘

sin2 45∘

https://dl.doubtnut.com/l/_npWmgmG9GfS4
https://dl.doubtnut.com/l/_F517ju7Y528q


44. Find the value of the expression 

.

A. 0

B. 1

C. 3

D. 

Answer: B

Watch Video Solution

3[sin4( − α) + sin4(3π + α)] − 2[sin6( + α) + sin6(5π − α)]
3π

2

π

2

sin 4α + sin 6α

45. 

A. 7

B. 8

sin2 5∘ + sin2 10∘ + sin2 15∘ + ....... + sin2 85∘ + sin2 90∘ =

https://dl.doubtnut.com/l/_F517ju7Y528q
https://dl.doubtnut.com/l/_3IW74zpSsk8K
https://dl.doubtnut.com/l/_1zwPoH6xETj9


C. 9

D. 

Answer: D

Watch Video Solution

9
1

2

46. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

cos 15∘

√
1 + cos 30∘

2

√
1 − cos 30∘

2

±√
1 + cos 30∘

2

±√
1 − cos 30∘

2

https://dl.doubtnut.com/l/_1zwPoH6xETj9
https://dl.doubtnut.com/l/_f2T5OZeQdREc


47. Which one of the following number (s) is/are rational?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

sin 15∘

cos 15∘

sin 15∘ cos 15∘

sin 15∘ cos 75∘

48. The vlaue of  is

A. 

B. 

C. 

D. 

(3 − 4 cos 2θ + cos 4θ)
1

8

cos 4θ

sin 4θ

sin4 θ

cos4 θ

https://dl.doubtnut.com/l/_V6exed3ODPQs
https://dl.doubtnut.com/l/_ZGNQpe4l8FYw


Answer: C

Watch Video Solution

49. If  then 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

0 < x < ,
π

4
sec 2x − tan 2x =

tan(x − )
π

4

tan( − x)
π

4

tan(x + )
π

4

tan2(x + )
π

4

50.  
√3 cos ec20∘ − sec 20∘ =

− =
√3

sin(20∘ )

1

cos(20∘ )

https://dl.doubtnut.com/l/_ZGNQpe4l8FYw
https://dl.doubtnut.com/l/_WOsBvRje38Bg
https://dl.doubtnut.com/l/_gQqLALSo4meY


A. 2

B. 

C. 4

D. 

Answer: C

Watch Video Solution

2sin 20∘

sin 40∘

4sin 20∘

sin 40∘

51. The value of t  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

an(10) + tan(890)

2

sin(1∘ )

1

sin(1∘ )

1

sin(2∘ )

2

sin(2∘ )

https://dl.doubtnut.com/l/_gQqLALSo4meY
https://dl.doubtnut.com/l/_9jGfPPTFkhkI


52. If  then the value of k is

A. 1

B. 2

C. 3

D. 

Answer: B

Watch Video Solution

cot + tan( ) = cos ec ,
2x

3

x

3

kx

3

−1

53. If ,

then  is equal to

A. 

B. 

C. 

2 sin2((π/2)cos2 x) = 1 − cos(π sin 2x), x ≠ (2n + 1)π/2, n ∈ I

cos 2x

1

5

3

5

4

5

https://dl.doubtnut.com/l/_9jGfPPTFkhkI
https://dl.doubtnut.com/l/_M9OmkCOcNEtb
https://dl.doubtnut.com/l/_0rjV3YCaPYAv


D. 1

Answer: B

Watch Video Solution

54. If , , then the value of  is

equal to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

8 cos 2θ + 8 sec 2θ = 65 0 < θ <
π

2
4 cos 4θ

−
33

8

−
31

8

−
31

32

−
33

32

https://dl.doubtnut.com/l/_0rjV3YCaPYAv
https://dl.doubtnut.com/l/_H9BifO2xniGq


55. If , then the value of cos4x is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

5(tan2 x − cos2 x) = 2 cos 2x + 9

−
7
9

−
3

5

1

3

2

9

56.  then 

A. 

B. 

C. 

D. 

x + = 2 cosα
1

x
xn + =

1

xn

2n cosα

2n cos nα

2i sinnα

2 cos nα

https://dl.doubtnut.com/l/_YxODCLhW5Mjj
https://dl.doubtnut.com/l/_M3pVZxmtPjpZ


Answer: D

Watch Video Solution

57. If , then tan 2x is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

sinx + cos x =
1

5

25

17

7
26

25

7

24
7

58. If A lies in the third quadrant and  then 

 is equal to

3 tanA − 4 = 0,

5 sin 2A + 3 sinA + 4 cosA

https://dl.doubtnut.com/l/_M3pVZxmtPjpZ
https://dl.doubtnut.com/l/_O20wYIGIqFpd
https://dl.doubtnut.com/l/_xs8Mtakw4mFI


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

0

−24
5

24
5

48
5

59. If  then 

A. a

B. b

C. 

D. 

Answer: A

Watch Video Solution

a tan θ = b, a cos 2θ + b sin 2θ =

−a

−b

https://dl.doubtnut.com/l/_xs8Mtakw4mFI
https://dl.doubtnut.com/l/_iPQ2ESZ4et5v


60. If a  has  as its solution, then the value

of  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

cos 2θ + b sin 2θ = c α and β

tanα + tanβ

c + a

2b

2b
c + a

c − a

2b

b

c + a

61. If  are solutin of  then 

A. 

B. 

C. 

α, β 6 cos θ + 8 sin θ = 9, sin(α + β) =

3

5

4
5

24
25

https://dl.doubtnut.com/l/_iPQ2ESZ4et5v
https://dl.doubtnut.com/l/_aNI3nKtByhwx
https://dl.doubtnut.com/l/_e5PWbcp9F7w2


D. 

Answer: C

Watch Video Solution

12

13

62. If  is a root of  the 

is equal to:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

α 25 cos2 θ + 5 cos θ − 12 = 0, < α < π
π

2
sin 2α

24
25

−24
25

13

18

−13

18

https://dl.doubtnut.com/l/_e5PWbcp9F7w2
https://dl.doubtnut.com/l/_046UPyEeTGsQ


63.  then 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2 cos2 θ − 2 sin2 θ = 1, θ =

15∘

30∘

45∘

60∘

64. 

A. 

B. 

C. 

D. 

2 sinA cos3 A − 2 sin3 A cosA =

sin 4A

sin 4A
1

2

sin 4A
1

4

sin 4A
1

8

https://dl.doubtnut.com/l/_4UDeb0cyYkxg
https://dl.doubtnut.com/l/_UF1J1poZN8ey


Answer: B

Watch Video Solution

65. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

sin4  + sin4  + sin4  + sin4  =
π

8

3π

8

5π

8
7π
8

1

2

1

4

2

3

3

4

66. 

A. 14

3(sinx − cos x)4 + 6(sinx + cos x)2 + 4(sin6 x + cos6 x) =

https://dl.doubtnut.com/l/_UF1J1poZN8ey
https://dl.doubtnut.com/l/_J2rIOR3UFICu
https://dl.doubtnut.com/l/_hUxNZ1NUucjc


B. 11

C. 12

D. 13

Answer: D

Watch Video Solution

67. If  then 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

sin 2θ + sin 2ϕ = and cos 2θ + cos 2ϕ = ,
1

2

3

2

cos2(θ − ϕ) =

3

8

5

8

3

4

5

4

https://dl.doubtnut.com/l/_hUxNZ1NUucjc
https://dl.doubtnut.com/l/_JwpCh1P6tMBx


68. If  then  is equal

to

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

n = 1, 2, 3, ....... , cosα cos 2α cos 4α....... cos 2n− 1α

sin 2nα

2n sinhα

si2nα

2nsin 2n− 1α

sin 4n− 1α

4n− 1 sinα

sin 2nα

2n sinα

69. 

A. 

B. 

C. 

cos cos cos cos =
2π

15
4π
15

8π

15

16π

15

1

2

1

4

1

8

https://dl.doubtnut.com/l/_JwpCh1P6tMBx
https://dl.doubtnut.com/l/_NkSUTsbb25QI
https://dl.doubtnut.com/l/_INFpTmWRX77I


D. 

Answer: D

Watch Video Solution

1

16

70. If 
then the numerical value of 

is_____

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

K = sin( )sin( )sin( ),
π

18

5π

18
7π
18

K

1

4

1

8

1

16

1

32

https://dl.doubtnut.com/l/_INFpTmWRX77I
https://dl.doubtnut.com/l/_kFtQkckNR7jY


71. The value of


 is equal

to___________

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

sinπ

14

sin(3π)

14

sin(5π)

14

sin(7π)

14

sin(9π)

14

sin(11π)

14

sin(13π)

14

1

8

1

16

1

32

1

64

72. The value of  is

A. 

B. 

C. 

sin π
31

3

√3

2

1

√2

−√3

2

https://dl.doubtnut.com/l/_rpJasrYeoiEk
https://dl.doubtnut.com/l/_MHprTfDigsXs


D. 

Answer: A

Watch Video Solution

−1

√2

73. Find the value 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

tan( ) + 2 tan( ) + 4 cot( ).
π

5

2π

5
4π
5

cot
π

51

cot
2π

5

cot
4π
5

cot
3π

5

74. The valur of  is
cot x − tanx

cot 2x

https://dl.doubtnut.com/l/_MHprTfDigsXs
https://dl.doubtnut.com/l/_1HXVuk7SmnDB
https://dl.doubtnut.com/l/_o5cagTRQGhzo


A. 1

B. 2

C. 

D. `4

Answer: B

Watch Video Solution

−1

75. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

=
sec 8A − 1

sec 4A − 1

tan 2A

tan 8A

tan 8A

tan 2A

cot 8A

cot 2A

tan 6A

tan 2A

https://dl.doubtnut.com/l/_o5cagTRQGhzo
https://dl.doubtnut.com/l/_cpM9E3FZDUZs


76. If  is equal to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2 tanA = 3 tanB, then
sin 2B

5 − cos 2B

tanA − tanB

tan(A − B)

tan(A + B)

tan(A + 2B)

77.  then 

A. 

B. 

C. 

cos 2α = ,
3 cos 2β − 1

3 − cos 2β
tanα =

√2 tanβ

tanβ

√2

tan2 β

√2

https://dl.doubtnut.com/l/_cpM9E3FZDUZs
https://dl.doubtnut.com/l/_pw0mSu9lrk98
https://dl.doubtnut.com/l/_qqGRl8SQQcQ5


D. 

Answer: A

Watch Video Solution

tanβ

78. If  then the value of  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

cos θ = (a + ),
1

2

1

a
cos 3θ

(a3 + )
1

8

1

a3

(a + )
3

2

1

a

(a3 + )
1

2

1

a3

(a3 + )
1

3

1

a3

79. cos3 110∘ + cos3 10∘ + cos3 130∘ =

https://dl.doubtnut.com/l/_qqGRl8SQQcQ5
https://dl.doubtnut.com/l/_d3Nk5qlit8SY
https://dl.doubtnut.com/l/_dwJlgT75yLPh


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

3

4

3

8

3√3

8

3√3

4

80. If  then x=

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

sin 6θ = 32 cos2 θ sin θ − 32 cos3 θ sin θ + 3x,

cos θ

cos 2θ

sin θ

sin 2θ

https://dl.doubtnut.com/l/_dwJlgT75yLPh
https://dl.doubtnut.com/l/_1qFzjjOCTVBP


81.  is equal to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

tan( + ) + tan( − )
π

4

θ

2

π

4

θ

2

secθ

2 secθ

sec
θ

2

sin θ

82. If  then the value of  is

A. 

B. 

C. 

tanx = , π < x < ,
3

4

3π

2
cos

x

2

−
1

√10

3

√10

1

√10

https://dl.doubtnut.com/l/_1qFzjjOCTVBP
https://dl.doubtnut.com/l/_pzrjqTDCef2f
https://dl.doubtnut.com/l/_HCv6TV4IhPH3


D. 

Answer: A

Watch Video Solution

−
3

√10

83. If  is equal to

A. 

B. 

C. 

D. 2

Answer: D

Watch Video Solution

90∘ < A < 180∘ and sinA = , then tan
4
5

A

2

1

2

3

5

3

2

84. If  is an acute angle and  ,then  is equal toθ sin( ) = √
θ

2
x − 1

2x
tan θ

https://dl.doubtnut.com/l/_HCv6TV4IhPH3
https://dl.doubtnut.com/l/_Pf7q5U2FgR7W
https://dl.doubtnut.com/l/_vFBz3b0rQwsE


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 − 1

√x2 − 1

√x2 + 1

x2 + 1

85. If  then the value of  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

tan( ) = cos ecx − sinx
x

2
tan2( )

x

2

2 − √5

√5 − 2

√5 + 2

9 − 4√5

https://dl.doubtnut.com/l/_vFBz3b0rQwsE
https://dl.doubtnut.com/l/_90WSEZ0mL4fn


86. If  then one of the values of is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

cos θ = ,
cosα − cos β

1 − cosα cos β
tan( )

θ

2

cot tan
β

2
α

2

tanα tan
β

2

tan cot
β

2
α

2

tan2 tan2α

2

β

2

87. If  then the value of 

 is

A. 

B. 

θ ∈ ( , ),
π

2

3π

2

√4 cos4 θ + sin2 2θ + 4 cot θ cos2( + )
π

4
θ

2

−2 cot θ

2 cot θ

https://dl.doubtnut.com/l/_90WSEZ0mL4fn
https://dl.doubtnut.com/l/_5tIFogjsNCrT
https://dl.doubtnut.com/l/_1ZaZa8Tt3WtK


C. 

D. 

Answer: B

Watch Video Solution

2 cos θ

2 sin θ

88.  then  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(m + 2)sin θ + (2m − 1)cos θ = 2m + 1 tan θ

or
4
3

2m

m2 − 1

or
3

4

2m

m2 + 1

or
4
3

2m + 1

m2

or
3

4
m2

2m + 1

https://dl.doubtnut.com/l/_1ZaZa8Tt3WtK
https://dl.doubtnut.com/l/_zhM8rXfr6iR5


89. Given that  then  is

equal to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

cos( ) = 2 cos( ),
α − β

2

α + β

2
tan tan

α

2

β

2

1

2

1

3

1

4

1

8

90. What is  equal to ?

A. 

B. 

C. 

tan(7 )
∘

1
2

√6 + √3 + √2 − 2

√6 − √2 + √2 − 2

√6 + √3 + √2 − 2

https://dl.doubtnut.com/l/_bWcSRBzXyQW3
https://dl.doubtnut.com/l/_L8dltVTSdIxc


D. 

Answer: B

Watch Video Solution

√6 − √3 − √2 − 2

91.  is equal to

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

√2 + √3 + √4 + √6

cot(7 )
∘1

2

si(7 )
∘1

2

sin 15∘

cos 15∘

https://dl.doubtnut.com/l/_L8dltVTSdIxc
https://dl.doubtnut.com/l/_da7shAN7SDry


92. If 

equals

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

α = 22∘ 30' , then(1 + cosα)(1 + cos 3α)(1 + cos 5α)(1 + cos 7α)

1

8

1

4

1 + √2

2√2

√2 − 1

√2 + 1

93. If  then  is equal to

A. 

B. 

C. 

D. 

tanA = ,
1 − cosB

sinB
tan 2A

tanB

tan2 B

tan2 B + 2 tanB

tanB + 2 tanB

https://dl.doubtnut.com/l/_R5SiaOtb3pLg
https://dl.doubtnut.com/l/_NHsg8tMHRD86


Answer: A

Watch Video Solution

94. If 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

cos ecθ = , then cot(π, /4 + θ/2) =
p + q

p − q

√
p

q

√
q

p

√pq

pq

95. 

A. 

=
√2 − sinα − cosα

sinα − cosα

sec( − )
α

2

π

8

https://dl.doubtnut.com/l/_NHsg8tMHRD86
https://dl.doubtnut.com/l/_78Lrv6OrbkX1
https://dl.doubtnut.com/l/_UpTQVk0ZwhFV


B. 

C. 

D. 

Answer: C

Watch Video Solution

cos( − )
π

8
α

2

tan( − )
α

2

π

8

cot( − )
α

2

π

2

96. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

cos 2(θ + ϕ) + 4 cos(θ + ϕ)sin θ sinϕ + 2 sin2 ϕ =

cos 2θ

cos 3θ

sin 2θ

sin 3θ

https://dl.doubtnut.com/l/_UpTQVk0ZwhFV
https://dl.doubtnut.com/l/_tvOD4RiT22CI
https://dl.doubtnut.com/l/_kdnN7IlCoRCE


97. lf  and , find the value of 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

sin θ + sinϕ = a cos θ + cos ϕ = b

tan( )
θ − ϕ

2

√
a2 + b2

4 − a2 − b2

√
4 − a2 − b2

a2 + b2

√
a2 + b2

4 + a2 + b2

√
4 + a2 + b2

a2 + b2

98. The value of expression 

 is

A. 0

B. 1

− sin 2α(cot + cot( + ))
1 + sin 2α

cos(2α − 2π)tan(α − )3π
4

1

2
α

2

3π

2
α

2

https://dl.doubtnut.com/l/_kdnN7IlCoRCE
https://dl.doubtnut.com/l/_NDztJhSOxB0v


C. 

D. 

Answer: D

View Text Solution

sin2 α

2

sin2 α

99. Let  be such that  for 

. Then the value(s) of  is/are

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

f : ( − 1, 1) → R f(cos 4θ) =
2

2 − sec2 θ

θ ∈ (0, ) ∪ ( , )
π

4

π

4

π

2
f( )

1

3

1 ± √
3

2

1 ± √
2

3

1 ± √
1

3

1 ± √
1

2

https://dl.doubtnut.com/l/_NDztJhSOxB0v
https://dl.doubtnut.com/l/_nxSiDjdhrP6f
https://dl.doubtnut.com/l/_ON804KL8pzf6


100. Let

..

then

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

fn(Θ) = (tan( ))(1 + sec(Θ))(1 + sec(2Θ)).... . (1 + sec(2nΘ)
Θ
2

f2( ) = 1
π

16

f3( ) = 1
π

32

f4( ) = 1
π

64

f5( ) = − 1
π

128

101. The sum of the series  is

A. 

B. 

C. 

∞

∑
n= 1

sin( )
n !π

720

sin( ) + sin( ) + sin( )
π

180

π

360

π

540

sin( ) + sin( ) + sin( ) + sin( )
π

6

π

30

π

120

π

360

sin( ) + sin( ) + sin( ) + sin( ) + sin( )
π

6

π

30

π

120

π

360

π

720

https://dl.doubtnut.com/l/_ON804KL8pzf6
https://dl.doubtnut.com/l/_SRFju8ib74x8


Evaluation Test

D. 

Answer: C

Watch Video Solution

sin( ) + sin( )
π

180

π

360

1. If 
 , then write the value

of 

A. 1

B. 2

C. 0

D. 

Answer: C

Watch Video Solution

x cos θ = y cos(θ + ) = z cos(θ + )
2π

3
4π
3

+ = .
1

x

1

y

1

z

3 cos θ

https://dl.doubtnut.com/l/_SRFju8ib74x8
https://dl.doubtnut.com/l/_6Ynj2pJgSCnK


2. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

tan 70∘ − tan 20∘ − 2tan 40∘ =

2tan 20∘

tan 40∘

4tan 10∘

tan 10∘

3. If  then 

A. 

B. 

C. 

D. 

√x + = 2 cos θ,
1

√x
x6 + x− 6 =

2 cos 6θ

2 cos 12θ

2 cos 3θ

2 sin 3θ

https://dl.doubtnut.com/l/_6Ynj2pJgSCnK
https://dl.doubtnut.com/l/_bJwdCEgs3HAi
https://dl.doubtnut.com/l/_S2eOxorxZeiX


Answer: B

Watch Video Solution

4. The value of 

 is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

cos3 θ + cos3(θ + 120∘ ) + cos3(θ − 120∘ )

cos 3θ
√3

2

sec3 θ
3

4

tan3 θ
3

2

cos 3θ
3

4

5. If then the value of  istanα = , tanβ = ,
1

5

1

239
tan(4α − β)

https://dl.doubtnut.com/l/_S2eOxorxZeiX
https://dl.doubtnut.com/l/_9QSqTh131f9C
https://dl.doubtnut.com/l/_3AJzIHftALVQ


A. 0

B. 

C. 1

D. None of these

Answer: C

Watch Video Solution

−1

6. Suppose  are such that sec 

 are in A.P. If  for some

k, then k is equal to

A. 

B. 

C. 

D. 

θ and ϕ( ≠ 0)

(θ + ϕ), secθ and sec(θ − ϕ) cos θ = k cos( )
ϕ

2

±1

±2

±√2

±
1

√2

https://dl.doubtnut.com/l/_3AJzIHftALVQ
https://dl.doubtnut.com/l/_pAF8hwp8Oehz


Answer: C

Watch Video Solution

7. The maximum value of the expression 

is………

A. 2

B. 3

C. 4

D. 6

Answer: A

Watch Video Solution

1

sin2 θ + 3 sin θ cos θ + 5 cos2 θ

8. Let  be such that it . if 

and then the value of  is

α, β π < α − β < 3π sinα + sinβ = −
21

65

cosα + cos β = −
27
65

cos( )
α − β

2

https://dl.doubtnut.com/l/_pAF8hwp8Oehz
https://dl.doubtnut.com/l/_yqGbgYAG0q5Q
https://dl.doubtnut.com/l/_o6LsKfiQUuHk


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

−
6

65

3

√130

6

65

−(3)√130

9. If  equals

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

tanα = (1 + 2−x)
− 1

, tanβ = (1 + 2x+ 1)
− 1

thenα + β

π

6

π

4

π

3

π

2

https://dl.doubtnut.com/l/_o6LsKfiQUuHk
https://dl.doubtnut.com/l/_B9RLhcCRM7AI


10. A and B are positive acute angles satisfying the equation

,  then  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

3 cos2 A + 2 cos2 B = 4 =
3 sinA

sinB
2 cosB

cosA
A + 2B

π

3

π

2

π

6

π

4

11. If , then the value of  is

equal to (A)  (B)  (C)  (D) none of these

A. 

B. 

+ =
sin4 A

a

cos4 A

b

1

a + b
+

sin8 A

a3

cos8 A

b3

1

(a + b)3

a3b3

(a + b)3

a2b2

(a + b)2

1

(a + b)
3

a3b3

(a + b)
3

https://dl.doubtnut.com/l/_B9RLhcCRM7AI
https://dl.doubtnut.com/l/_p3CMPZ4UXaN0
https://dl.doubtnut.com/l/_PlKMkSqFRvM0


C. 

D. None of these

Answer: A

Watch Video Solution

a2b2

(a + b)2

12. If , then of the value  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

sin(π cos θ) = cos(π sin θ) cos(θ ± )
π

4

√2

1

√2

−
1

2√2

1

2√2

https://dl.doubtnut.com/l/_PlKMkSqFRvM0
https://dl.doubtnut.com/l/_ig43DkjScpl0

